B2E MEFZEHEOREHE

(1) 5

1.1%

6%

B 18~19i% B20~295% B30~397% 0 40~495% B50~597%
B60~69% B70~797% B80i%k LI E O ERZE-#%
N=1916
(2)EE
1.4%

f 25% = 17.2%

28.1% 5.4%

1 13.9%

BEEX(RERENAZET) oR#E HABE

O /85—, ZILisAbh, EEEE FHE BEREEX
=3 BZDith O &M Z - E
N=1916
(S EFHER
1.0%
20.9%
BRERX B EHEX BEMKX OXBR @ RX mE:IERRE 3y
N=1916



(HBREDEFL

16.0%

BFOLER(—FET) BEFOER(REEE) BEERE(—FET DEER=E(REE=®)

BHE BE & EZDfth O #EE % - 3

N=1916

(O EEEH

2.0%

7.1% ¥

B1EXRE 1L ESEXKH E5E L L10EXRE 0104 L E 205K
B 204 Ll E30F R B30F U E mE::JEIRPE 3
N=1916
(B)RIEIERL

7.5%

B—AELL RIFD H
B AHE (HE-0HAEF4) O ZHAES (HE-0EKER)
B=HAHFE (HLEEEHTZHEK) 8 0Dt

OEEE- &

N=1916



(DINZEUTOFELDHE

79.6% 3.3%

@ml\3 @ LV OEMEZ - ES

N=1916



